HYNESIKRYDHR—ILKE 2016

K293/ 19
FiE)—Y
> TERLRE B2
1)— 0y —— —
. A)—4 Al A2 A3 A4 [[:3iva Bor [ ERBE REiE
Al E2BEN—9FyX Q 7 - 0|5 -5 145L 5 19 5
A2 FMEER 0 - 7 5 - 4|6 - 5 231 4 11 16
A3 HENER 0 - 7|4 - 5[ ~—~—~——_6 - 4 36T 2 10 16
A4 FiIH A —X 5 - 5|5 - 6|4 - 6 AL 1 14 17
. - TERLR G 2
B!)— B1 B2 B3 B4 LA S— = —
=7 B e T ARG [T REA
B1 #BPVICTORY Q 0o - 7|13 - 7 461 1 9 20
B2| % BBk O T/ 7—3—| 6 - 6 0 - 7|5 - 5 3 2 11 18
B3 BRI 7 - 0|7 - 0[—]3 -5 2fi1 4 17 5
B4 #HEIAIEIAX 7 - 3|5 - 5|5 -3 1451 5 17 F]
N TERLRE e
1)— 0y —— —
c)—4 C1 C2 c3 c4 I £ AR
C1 BiEY57 H 2 - 6|6 - 3 oY 3 12 13
c2 TETA4T7AE—R 4 - 4 0 - 7|5 - 6 445 1 9 17
C3 DALyYRII=wHR 6 - 2|7 - 0o T~——]7 - 1 162 6 20 3
c4 REEMJr. 3 -~ 6]6 - 5|1 - 17 3fz 2 10 18
. - TERLR T 2
D!)— D1 D2 D D4 (YA — A = i
T 3 B T ERNE R I EE
D1 FIRE IRTIS < 6 - 0|2 - 6 3L 2 10 13
D2|BRESAAF<ACN)FT—2) 7 - 2 8 - 0|7 - 4 142 6 22 6
D3 BRI —X 0 - 6[0 - 8] ——~——]0 - 7 41 0 0 21
D4 i —Evk 6 - 214 - 77 -0 2{is 4 17 9
. N TELRE 2
1)— 0y —— ——
EV— E1 E2 E3 E4 g4 Bor | BENEE | RIREE
E1 S Q 0 - 6|4 - 4 A 2 9 15
E2 gL—Fn—y 5 - 5 5 - 3|3 - 7 241 3 13 15
E3 GOD BOYS 6 - 03 - 5[ ~—~——_]|3 - 6 3L 2 12 11
E4 DEHIFANY—X 4 - 417 - 3|6 - 3 115 5 17 10
R n TERLR 2
F)— Fi F2 F F4 (A S— e
=7 S B T ERGE [REAEE
F1 7599%9A—X { 7 - 0]3 - 7 3£z 2 13 14
F2|$BFELE SEFYILX| 7 - 3 8 - 0|6 - 5 162 6 21 8
F3 B557 0 - 7|0 - 8 ——~——]0 - 8 A1 0 0 23
F4| BRASFRIBRIEEIMAMNBE]| 7 - 3|5 - 68 - 0 2151 4 20 9




HYDESKFYIUR—ILKE 2016
R —F A

Z &% DALYRIz=wH R
2B || SBEFEEE SBFYILR
Dd l/“J F‘jI — ‘yax E3 BEZ2 /=59
EE1 E2HIANN—9FvX 5 6 SBEFERE SBEFVINLK
B2 DALYKRIz=vH X 7 2R —Hx9X
B3 SEFERE SEFVILK 4 6 DALYRIz=vHR
I I
AT Oy BJ 0w/ coaowv4
2B/ —9%vX DALYRIz=v9 R SBEFELS SEFOILR
7 0 7 2 3 6
A10 B11 B10
5 4 6 4 6 4 7 4 5 2 2 6
A7 A8 A9 B9 B8 B7
710 0| 8 2 | 7 5 | 2 7] o0 0| 8 4| 6 3| 7 g8 | o 4 | 5 5 | 4 0| 8
Al A2 A3 Ad A5 A6 B6 B5 B4 B3 B2 B1

Al F4 B3 D2 E2 C3 Ad B1 Cl B4 D3 F2 A2 E3 C4 D1 E1 D4 F3 B2 C2 A3 E4 F1
] E2] * ™ g % A 0 D i \2) 23 # G 7 " 2 = P = B B ] 5
i 9 13 i) L 1 i =) d [i] B H fn 0 = R A - 2 b/ & M 0 g
Z > B ¥ I H 2 L v 34 ¥ E D T 5 s J Y ~ 9 £ ¥ ¥
AN 7 * a2 - J v 4 > I B F «1 4 7 S5 i ot S5 Y &
[ m] [ N r A L N c T Bk B 7 + 7 s * v 7 =z %
7 v e I I K P T Z 18 0 7 < 4 I 7 z =
* 7 Y ) z ) T o} 7 b Y 4 4 ¥ = m] .
w v ~ 4 = R T & S A k I I 5
z T > v % 5 * | N z = 2
1 z % 1 Z (v 7
= . L
| - z




